Maths problems-use calculator if necessary. 
Tegan has 22 sweets. She divides them equally between her and her dad. How many sweets do they each have?


Toby buys 12 ice lollies for all his friends in the park. The lollies cost £1.50 each. How much did Toby spend altogether?


Melissa went to McDonalds with £10 she came out with £6.40 in change. How much did she spend in there?


Jessica started to do a 100 piece puzzle. Sadly, she realised that 4 pieces were missing. How many pieces of the jigsaw did she have?


Tim opened his café. He sold 6 coffees at £1.20. how much money did Tim make?
[bookmark: _GoBack]



